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Geometry: ClrcumferenZ,’Area and Volume STUDY GUIDE

. Find the circumference of the circle to the nearest tenth. Use 3.14 for .
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Find the area of the circle to the nearest tenth. Use 3.14 for 7.
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Find the area of a circle with diameter 31.6 cm. both in terms of 7 and to the nearest tenth. Use 3.14 for 7.

The diameter of a circle is 14 m. What is the area of the circle? Use 3.14 for x. \ 2
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Estimate the area of the circle. Use 3 to approximate 7.

Find the area of the triangle.
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Find the area of the trapezoid.

[ A= Gabdl
\)\151 P&"’ (5+0)(17) () 955

b, =10 - = 2
e

/

/

/
L\



8.

(U9

Find the perimeter and area of the figure.
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Amber is using 3 {t by 14 ft sheets of wallpaper to ‘cg/er a rectangular wall that has an area of 240 ft*. What is the

least number of shegts of wallpaper she will need? A\ rea of sM > {X-_-.Z) 14) = 4242
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If two pieces ot ice have the same vélume, the one with the greater surface area will melt faster because more of

its surface area is exposed to the air. which is warmer than the ice. Four pieces of ice (], P, P;, and 7, have

the same volume. Fach piece of ice is shaped like a rectangular prism. Find the piece of ice that melts faster than
the others.
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Find the volume of the ﬁgur.e in terms of . b
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Find the volume of the cylinder. Round your answer to the nearest tenth.
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Find the volume of the composite figure. Round to the nearest tenth. Use 3.14 for x.
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Short Answer
I. A farmer drew the following figure as an outline for a barn that he is planning to build.

Purt A: How many square meters of lumber will he need to build the exterior of the barn including the roof and
floor? Show your work.
Part B: How many cubic meters of straw would it take to fill the barn all the way to the roof? Show your work.
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2. A new movie theater is going to sell popcorn. The manager has the choice of the three different size containers

shown. The manager plans to charge $4.75 for a container of popcorn. P g
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Part Az Which container would vou choose as the manager of the movie theater? Explain.
Part B: 1t all of the containers are made using the same material. which container would cost the least to make?
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